Worksheet
Word Problem Level 1

Solve each problem

1) The sum of a number and the difference between 16 and a number, plus 5 is 21. What is the
number?

2) The sum of 4 times a number is equal to the number minus 4. What is the number?

3) Jamal's present age is three-fourths of Deema's present age. In five years, Jamal's age will
be four-fifths of Deema's age at that time. What are the present ages of Jamal and Deema?

4) The sum of two numbers is 91. The larger number is 1 more than four times the smaller
number. Find each number.

5) Find three consecutive odd integers, such that three times the second minus the third, is 17
more than the first.




